Pre-Calculus First Trimester Review

Non-Calculator

Remember, you must show all work to get credit for these problems, (extra credit on the exam).

For the following:
(a) Identify the parent
(b) State the transformation rule(s).
(c) Sketch the graph.
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Solve. Check for extraneous solutions.
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[P1] Simplify. Express your answer without negative exponents.
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[1.2] Find the domain. Express the answer in interval notation.
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[1.4] Givenf(x)=(x-4),g(x)=2x— 3and % (x)= vx+5 Find and simplify the answer.
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[2.3] Describe the end behavior of the polynomial using limit notation. "
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[2.3] Find the zeros of the function algebraically.
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[2.4] Find the zeros of the function and write the function as a product of linear and irreducible quadratic factors
all with real coefficients.
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[2.7] Find (if it exists) the a) asymptotes and b) intercepts of the function. Sketch the graph by hand.
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[1.2] 33. Find all a) local maxima and minima and b) identify intervals on which the function is
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[1.3] Sketch the graph of the piecewise-defined function. State whether the function is continuous or
discontinuous at x = 0.
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[2.1] 38. Write an equation for the linear function fwith f(-3) = -2 and /' (4) = -8.
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[2.2] 39. Write the statement as a power function equation and answer the question. The electrical resistance
of a wire varies directly as its length and inversely as the square of the diameter of the wire. Suppose 50 mm of
a wire of diameter 3 mm has a resistance of 8 2. What is the resistance of 40 mm of the same type of wire if the

diameter is 4 mm?
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[2.4 & 2.6] Find a polynomial equation with the given zeros. Express answers in standard form.
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